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Typeobsigntdlstance:-

① stopping sight distance@D) / absolute min sight distance

② over taking ' e

③ ISD = 2 ✗ SSD

⑨ Headlights.D.lv
Distance visible to driver at night under head light

HSD=SSDI
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①s- it is the min distance available on the highway
at any spot such that the vehicle travelling at design speed
could be safely stopped .

Factor affecting SSD -
-
-

① tr = 2.5 Sec

② Breaking off . ( for safe G. D assume that vehicle have

Only 50% break efficiency ]
③ V ↑ , SSD ↑
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* SSD = 0.270 Vt 1- 0^01 V2 mm

n= efficiency of Break
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E- Cal . the SSD for design speed de 50km ph for flat

terrain
LOMKS

⑨ find out ISI
⑤ Two way traffic on two lane ¥#¥←

→ SSD = 0.270 Vtr + v2
25-4 f

= 01270×50×2 -5-150-2
254×0.4335

= 62.01
① ISD = 2 ✗SSD

-

= 125.74m / ④ ↳ D= 62.07m ✗ z

=

m
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Q - Cal the min SSD required to avoid a head 06 collision

of two car approchlhg from opposite doin at 90 & 60 kmph

coeff de friction 0-7351 Break efficiency 50% in both case

?⃝ 504→01350 ④SSD
, = 0-270×90×2.5 1-9-02

2544.3g.
=

153.5m

=

SSD2= 0.270×60×2.5 1-6
2544.3£

02.06

SSD= SID
, + SSD
,
= 235855$m
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@D)

Q- Determine the min non Passing sight distance that

should be Provided fora vehicle commehg down 6-1 . Gradient

using following data V = 56 KMPH
, f= 0.5

-

SSD = 0.27 @Vt + V1 →
◦ - ◦ In

254 ( f- n'1.)

= 0.270×56 ✗ 2.5 1-56-2
25410.5- •

◦ g)
= 6£91 Any
-

Note. ①Pgradrent 6% - 60.91

NOTE = Down gradient >ˢ%p Madan


